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1.
Which one of the following words can be substituted for ‘one who loves books’?
(@) Misanthrope
(b) Bookie
(c) Bibliophile
(d) Librarian

2.
Which one of the following words can be substituted for “words written on the tomb of a person’?
(@) Epicure
(b) Pen name
(c) Epitaph
(d) Pseudonym

3.
Which one of the following is the synonym of the word written in capital letters in the sentence ‘For a
while she listens to the PATHETIC voice’?

(@) Bad

(b) Causing sorrow

(c) Arousing anger

(d) Causing worry

4,
Which one of the following is the synonym of the word written in capital letters in the sentence
‘Libraries continued to develop after the REVOLUTIONARY war’?

(@) Reformatory

(b) Rotatory

(c) Extraordinary

(d) Involving sudden drastic change

5.
Which one of the following is the synonym of the word written in capital letters in the sentence
‘PROXIMITY is now no longer a condition for access to information’?

(@) Guess

(b) Nearness

(c) Immediate

(d) Approximate

6.
Which one of the following words can be substituted for ‘a study of birds’?
(@) Aviary
(b) Ornithology
(c) Apiary
(d) Zoology



7.
Which one of the following is the appropriate question tag in the sentence ‘The problem is easy to
tackle, ?

(@) isn’tit?

(b) isit?

(c) won’tit?

(d) will it?

8.
Which one of the following is the antonym of the word written in capital letters in the sentence ‘The
cleaner of the truck REPAIRED the wheels’?

(@) Overhauled

(b) Defaulted

(c) Damaged

(d) Injured

9.
Which one of the following is the antonym of the word written in capital letters in the sentence ‘He
told very FANTASTIC stories about the life in Nigeria’?

(@) Romantic

(b) Factual

(c) Reliable

(d) Realistic

10.
Which one of the following is the appropriate question tag in the sentence ‘I could understand
everything, ?

(@) could I?

(b) Isn’t it?

(c) didn’t 1?

(d) couldn’t I?

11.

Which one of the following phrasal verbs may be used in the blank spaces in the sentence ‘Burglars
my house yesterday while we were away’?

(@) Break into

(b) Broke out

(c) Broken out

(d) Broke into

12.
Which one of the following phrasal verbs may be used in the blank spaces in the sentence ‘Domestic
prices have been those in world markets’?

(@) Aligned to

(b) Aligned in

(c) Aligned with
(d) Aligned for



13.
Which one of the following phrasal verbs may be used in the blank spaces in the sentence ‘At first, the
childcouldnot __ the danger’?

(@) Awaken for

(b) Awaken upon

(c) Awaken in

(d) Awaken to

14,
Which one of the following words can be substituted for ‘a man who is greedy for money’?
(a) Rational
(b) Avaricious
(¢) Reticent
(d) Gullible

15.
Which one of the following phrasal verbs may be used in the blank spaces in the sentence ‘Scientists
think they are beginningto _in the fight against Cancer’?

(a) Break out

(b) Break up

(c) Break into

(d) Break through

16.
Which one of the following parts of the sentence “When | reached the college, | found there was no
less than fifty boys present in the class’, has an error?

(@) When | reached the college

(b) 1 found

(c) there was no less than fifty boys present in the class

(d) No error

17.
Which one of the following parts of the sentence “‘When utterances conflict with actions and actions
with beliefs, the individual is splitted and sick’ has an error?

(@) When utterances conflict with actions

(b) and actions with beliefs

(c) the individual is splitted and sick

(d) No error

18.
Which one of the following parts of the sentence ‘Rachna once met me in Mumbai; I have not seen her
from then’ has an error?

(a) Rachna once met me

(b) in Mumbai

(c) 1 have not seen her from then

(d) No error



19.
Which one of the following is the appropriate question tag in the sentence ‘The teacher wants to see
the homework now, ?

(@) isn’tit?

(b) isit?

(c) doesn’t he?

(d) does he?

20.
Which one of the following parts of the sentence ‘He informed her that he will be late for dinner’ has
an error?

(@) He informed her

(b) that he will be

(c) late for dinner

(d) No error

21.
CE-20, the first successfully tested India made cryogenic engine is capable of carrying satellites upto
the weight of:

(@) 5 tonnes.

(b) 10 tonnes.

(c) 12 tonnes.

(d) 15 tonnes.

HRA H FoIT TUH HhoIdTdeh qATaIT et o1t CE-20, fahctel IR deh & 3U3g aget el
&THAT TEAT g ?

(@) 5c

(b) 10T

(c)12ceT

(d) 152

22.
For reconstruction in which of the following sectors in post-earthquake Nepal, India has committed
250 million dollars grant in February 2016?

Housing
Highways
Cultural heritage
Education

AN S

Select the correct answer using the code given below:

(@ 1,2and 3 only
(b) 1, 3and 4 only
(c) 2and 4 only
(d1,2,3and4



8T & IWI & ATl A fAeATARIT H & o Ueh 819 H GATAATT & AT, R o wRadl 2016
# 250 TATII STeR & 37eTale T auel feaT g ?

1. 3ETEsT

2. JSTHATN

3. ArEpide faRmad

4, e

oA feT She T YT T FET 3cck AT :

(a) haeT 1,2 31 3
(b) Faer 1, 3 31K 4
(c) shaer 2 3K 4
d)1,2,33R4

23.

The United Nations announced the year 2016 as the International Year of:
(@) soils.

(b) pulses.

(c) sustainable tourism for development.

(d) light and light-based technologies.

TGerd TSE o ¥ 2016 T fohdeh HARTSET a¥ & &9 & €N fohar g 2
() HaTT

(b) EeTgeT

(c) Trerrer 8 eRoi wiest

(d) ehTer 31T ehrer-3menid Heafafsar

24.
The Paris Agreement under the UNFCCC (United Nations Framework Convention on Climate
Change) held in December 2015 resolved that the implementation of the agreement by all member
countries together will be evaluated after:

(a) every two years.

(b) every three years.

(c) every five years.

(d) such number of years as decided by IPCC.



UNFCCC (STefarg TRdciel TR Hgerc IS el mm)a?m%ﬁwzolsﬁgvmw@ﬁ
H Ig Hehed TolT 3137 Tob 30 FHSHA o Thary T8l HEET G211 GaRT ShiTeads] &l Hodlehed Tid
forder a¥ a1 foRar SToeT 2

(a) aray

(b) deTay

(c) 9T Iy

(d) IPCC garT A fRad &r 318 auf T g&ar

25.
Which one of the following is the correct order of per capita emission of carbon dioxide?

(@) USA > Russian Federation > China > India
(b) China > USA > Russian Federation > India
(c) USA > China > Russian Federation > India
(d) USA > China > India > Russian Federation

e & @ st a1 voh, Ui T el STEHTFATSS ScHole hl TET 3HeTsha & ?
(a) USA > &Y #GIIH > Tl > IR
(b) AT > USA > &7 #gTHE> AR
(c) USA > et > &Y #AIE > IR
(d) USA > AT > IR > T AgrHT

26.
Which one of the following is NOT a feature of the Railway Budget 2016?
(@) All unmanned level crossings will be eliminated by 2020
(b) More number of lower berths will be reserved for women and senior citizens
(c) Baby foods will be available in long distance trains
(d) Day-time double-decker trains will be introduced on business travel routes

eI ad 7 & it AT Uh, TeT Folc 2016 T Teh ITAGETOT @] ¢ ?
(a) T ATTI-IRT TURT (et HITRIH) Y ¥ 2020 Tdoh ATC T &A1 SATTar
(b) A3 3R alsas ARt & forw 31T 31fe Tear & e eanffewre e fr svef
(c) el Y T Teran 3T & RAY TR ITelstr Igam
(d) STSETT-ITT AN R e o THT bl geToell TSRMISAT 3TN T SAran

27.
The first Sahitya Academi Fellowship was awarded to:
(@) Gopinath Kaviraj.
(b) Vaikom Muhammad Basheer.
(c¢) S. Radhakrishnan.
(d) C. Rajagopalachari.



TUH g eI AT (FellfAT) fhd varet hr arg & 2
(a) IMITATY FHiaRTST
(b) ATSRIA HgFAe T2
(C) TH. TETH™UTT
(d) &Y. STy

28.
Which one of the following was the theme for the World Environment Day of the year 2016?
(@) Many Species. One Planet. One Future
(b) Green Economy: Does it include you?
(c) Join the race to make the world a better place
(d) Melting Ice — a Hot Topic?

A& d & & i a1 U, av 2016 & faeg gaTaRor figad & afaarea (&) ar?
(a)ag?rmfrqtﬂi?rl T T8 | Th AfasT |
(b) R 3ITTTAT ; FIT SHeT HTTh! ATTHT ThaT & 2
(c) GfTT hY Th SE STITE SeTl=t & oI glg & enfaer gt
(d) % T =TT - T TR (v § 2

29.
Which of the following statements is / are correct?
1. A giant slab of ice has been discovered beneath the surface of Mars between its Equator and
North Pole
2. This slab may have generated due to snowfall tens of millions of years ago
3. The planet is now found to be wet

Select the correct answer using the code given below:
(@) lonly
(b) 2 only
(c) 1and 2 only
(d) 1,2and 3

eIt fad 7 & ST Ar/d FUAT TEr /6 2
1. HITST T HTg o AT ST HEF-GT 3R ST ¢ & ST Sth hr Teh faerer gt Tl 715 &

2. Ig IET HUST a¥ G AU & Bered® T SAfald g‘és‘ﬁﬁ
3. UE IE 379 3T 91T ST §

o1 feT e T YT T HeT 3ccR AT
(a) hae 1
(b) el 2
(c) shaer 1 3iR 2
(d)1,23IR3



30.
Which one of the following statements with regard to LIGO (Laser Interferometer Gravitational-Wave
Observatory) project is NOT correct?

(@) It is a joint project between scientists at MIT, Caltech and many other Universities throughout

the World

(b) The LIGO project team first detected the gravitational waves in September 2015

(¢) The LIGO project was funded by UNESCO

(d) A number of Indian scientists are also associated with the LIGO project

LIGO (el TTAhROTATIY J&cdly TaT JLRITeln) IRATSTAT o IR H fAe=ifaf@d syt & § wler
T U TeT 78] & 2
(a) I MIT, odeh (Caltech) 3 R fa2d & 3 3wy faRaiacATedl & ATl & & Th
T URANSTAT §
(b) LIGO IRATST=AT &l & &R 2015 H I&cdl o3 T HITLH Tl ST
(c) LIGO IRANSTAT &l fAefiael UNESCO SarT foham I1ar 21
(d) Lleoqﬁuﬁama%maarémn?ﬂzraﬁmaﬁaﬁgc%

31.
Who among the following leaders was NOT associated with the founding of the Non-Aligned
Movement?

(a) Josip Broz Tito

(b) Gamal Abdel Nasser

(¢) Kwame Nkrumah

(d) Mahatma Gandhi

fAFAfaf@a Aam3it & @ e, T[e-fAdeT 3rele B T & gl o[ 21 ?
(a) STAT sieT et
(b) ITATS 3Tec ol ATER
(c) SFaTH FRAT
(d) ATcHAT el

32.
Article 17 of the Constitution of India provides for:
(@) equality before law.
(b) abolition of untouchability.
(c) right to freedom of religion.
(d) right to freedom of expression.

HRC & HIAUTT T Jefeede 17 fhdehr 3Uaer HIAT & 2
(a) faf&r & gaeT AT
(b) 3TEGRYCT &7 3T
() & T TTTFAT T DR
(d) TR TFI-FaTd=T T 3TFR



33.
Which one of the following statements about the Preamble to the Constitution of India is NOT correct?
(@) The Preamble is an operative part of the Constitution of India
(b) The Preamble lays down the goals and objectives of the nation and its citizens
(c) The words ‘Socialist’ and ‘Secular’ were inserted by the 42" Amendment Act, 1976
(d) The Preamble indicates the source of the Constitution of India

HRA & Tiaurs Hr 32 & aR 7 eafafld wu=t & F i a1 ve @) 7878 2
() 32T, R o Ffaeret &1 Jaderelier AT &
(b) 32T, 31 ST 3R ST AT o A&2T iR 32237 T ATURTAT FAT &
(c) 2reg “FATSIAE” AR ‘TUfeRAeT 429 Hevere Jfafaa#, 1976 gaRT 3 ¥mfid fohu 7w
(d) 3 TRIT TR & TIFET o 33T T 3USRIT AT

34.
Who among the following was the Chairman of the Union Constitution Committee of the Constituent
Assembly?

(@) B R Ambedkar

(b) J B Kripalani

(c) Jawaharlal Nehru

(d) A K Ayyar

farafaf@a & @ s, afawurs e & gu Tfaur afafa & reger ar 2
(a) ST 3 37FATI
(b) St &t e
(C) STATEEITel Ag®
(d) TF IR

35.
Arrange the following events in chronological order:
1. Morley — Minto Reforms
2. Cripps Mission
3. Motilal Nehru Report
4. Montford Report

Select the correct answer using the code given below:
(a) 1-3-4-2
(b) 4-2-3-1
(c) 4-3-2-1
(d) 1-4-3-2



fAFfe T T3 T FellIshdl H FIEId HST :
. Al-THT guR

. Torca fAereT

. AlciTelTel Ag® RArE

. Hicchrs RUE

A wWw NN -

oA feT &e T YT T FET 3cck AT :
(a) 1-3-4-2
(b) 4-2-3-1
(c) 4-3-2-1
(d) 1-4-3-2

36.
The first Prime Minister of India in 1947 was appointed by:
(@) the Governor General.
(b) the President of India.
(c) Mahatma Gandhi.
(d) a Committee headed by Dr Rajendra Prasad.

1947 H R T JUH TTTHAT fhaeh caRT gt foham aram 2m 2
(a) IR SFeAel
(b) 8T T Iregafd
(c) FGTHT aTely
(d) ST0 TrSig e I reaeTar & e afAfa

37.
Which one of the following is the subject of the 8" Schedule to the Constitution of India?
(@) The Union, the State and the Concurrent Lists
(b) Recognized languages
(c) Provisions relating to the administration of tribal areas
(d) Provisions as to disqualification on grounds of defection

fArTfafed & @ i a1 veh, R & Afaener $r 8ot 31 1 fava g 2
(a) §e, T 3N GG gioar
(b) AT ST
(C) STASTART &13T o JATH H TS 3ITET
(d) EoT-S& el o IMUR W foRgdT & aR & 3uay



38.
Consider the following statements with regard to the Mahatma Gandhi National Rural Employment
Guarantee Act (2005):

1. The scheme is implemented only in 53 districts across India

2. It guarantees the right of 100 days of wage employment in public works

3. There is a fixed wage across all States

4. An unemployment wage must be provided if no job is provided to a claimant within fifteen

days

Which of the statements given above is / are NOT correct?
(@) lonly
(b) 2and 4
(c) 1and 3
(d) 2and 3

HETcAT el TS IO IR IRET 3fARTH (2005) & SR & Feafaf@a Fuat ) R
FITST
IE AISToAT IR AR H sharel 53 forell # drdifead Hrag g
Ig TIGSTeteh 1t 31 100 et 3 FoTedy fasTeT 3 TR T ITRET & &
T Tt 7 Ueh I Alelr &
g fRdT gaeR &1 Ugg feal & fidR IS 1T 39Ty 81 HAT AT ar 38
SIS HSTG 7R ITeIstl Hlls Sileil Mg T
39gerd HUAT H § T QA TEY T8 8/8 2
(a) dhdel 1
(b) 23R 4
(c) 133
(d) 2 3iR 3

M w D

39.
Which of the following Articles of the Constitution of India deals with the power of Judicial Review?
(@) 32 and 226
(b) 21 and 371
(c) 338 and 360
(d) 217 and 283

HR & T & Rrafaf@d sqeoe & @ Fi ¥, 7Re gHiddes & afed & dau @ §
?

(a) 32 31X 226

(b) 21 31k 371

(c) 338 3{IX 360

(d) 217 37X 283



40.
Which one of the following pairs is NOT correctly matched?
(a) State Governments : State List
(b) Union Government : Union List
(c) State Governments and Union Government : Concurrent List
(d) Local Governments : Residuary Powers

ffafed goat & @ i a1 v, Gé gAtad Fg7 ¢ ?
(a) TCT TPR [T Gl
(b) FTEHER  : HIT G
() T TN 3R T TR : HHAICH Gl
(d) TATAT =T : 37afRrse rfeFaar

41.
The “Basic Structure Doctrine’ of the Constitution of India was enunciated in which one of the
following Judgments of the Supreme Court of India?

(@) Golak Nath V State of Punjab

(b) Sankari Prased V Union of India

(c) Keshavananda Bharati V State of Kerala

(d) Minerva Mills V Union of India

HR & HIGUTeT T ARSI G (AT, AR & 3TIAH +A-Teld & ArAfafad Aot 7 8
e veh 7 afaeniad ferar sram ar 2

(a) FTTeTeh T §ITH UalTe od

(b) R GETE TATH HRT TG

(c) ATl HRAT §ITH Hlel T

(d) FA=TaT fAeT sIme TRa 99

42.
In India, seats are reserved for women in:
(@) Legislative Assemblies.
(b) Lok Sabha.
(c) Panchayati Raj Bodies.
(d) Rajya Sabha.

HRT & ART3N & forw Tt &1 3mreTor fohasd fRar a=ar g 2
(a) TaremeT T3 &
(b) ok THT H
(c) TaTIc I Tt &
(d) TSI FHATH



43.
Through the ‘Look East Policy’, India wants to establish close ties with which one of the following
regional groups?

(@) SAARC

(b) ASEAN

(c) BRICS

(d) UNCTAD

R “qAAAT A & Areyd @, Ffaf@d &= qoggt & @ 67 v & @y gfdss g6y

T AT ARAT & 2

(@) SAARC
(b) ASEAN
(c) BRICS
(d) UNCTAD

44,
First Amendment of the Constitution of India relates to:
(@) Article 19 of the Constitution of India.
(b) states designated as A, B, C and D categories were recategorised as States and Union
Territories.
(c) inclusion of areas of Dadra and Nagar Haveli in the First Schedule.
(d) inclusion of Sindhi language in the Eighth Schedule.

R o AT T Igell T fhad Fafid g ?
(a) SR & G T 3eTeae 19
(b) A, B, C 3iR D hifedt (Feardien) 7 31fafea U=t o T2t 3R §g T3l & &I H
geAehiieehe (SeheIRTges) fohaT aram
(c) TE T 3TTEE # ETeT R AR gaell o &Y= T FHTAL
(d) 3madt 3T A FAE $179T i1 FATIY

45,
Who among the following are the Members of the Governing Council of NITI Aayog?
(a) Governors of States and Lt. Governors of Union Territories
(b) Chief Ministers of States and Lt. Governors of Union Territories
(c) Chief Ministers of States and Union Territories with Legislatures and Lt. Governors of all other
Union Territories
(d) Chief Ministers of States, Lt. Governors of Union Territories and Governors of Scheduled Area
States

Ao @a & & i, NITI 3mTer T 2y IRve, & TeeT & ?
(a) AT o To4Tel IR TG TSF&AT o 3T Ao FITeA
(b) T & HEIHAT IR TG AT & 39 AsIdTel
(c) Tt AR AurTAse darel Fg TeFeHl & FEIAEN 3R g @l g Asger &
IIRTSIYTT
(d) TS & HEIHAT, TG ASFLIAT & IWTSITS 3R TG &1 dlel Tl & AT




46.
Dearness Allowance of the Government employees is linked with:
(@) Wholesale Price Index.
(b) Consumer Price Index.
(c) Cost of Living Index.
(d) Retail Price Index.

TIHRT HATATRAT T HGIMS HedT [had g & ?
() Uk TSshT hreT Fererreh
(b) ST FIHT Geehieh
(c) To¥aTe @ gerepien
(d) GeT hIAd Fahih

47.
The First Schedule to the Constitution of India relates to:
(@) provisions as to the President and Governors of States.
(b) allocation of seats in the Council of States.
(c) States and Union Territories constituting the Union of India.
(d) forms of oaths or affirmations.

HIRCT o AT T ggoll 3T fohad deer @ g 2
(a) Tseufa 3R T=T & ToIuTell & IR & 399
(b) I THT H TATAT T T
(c) AR Y i ATHT F arel T 3R g Tomayy
(d) QI AT YT ATeT o T&Y

48.
The Inter-State Council was established in the year 1990 on the recommendations of:
(@) The National Development Council.
(b) The Sarkaria Commission.
(¢) The Finance Commission.
(d) The Parliament.

a¥ 1990 H HR-ToT aflwe hr TarqaT foraehr fawIiver a & ars oY 2
(a) TSET faehre IR,
(b) TIRIRAT 31T
(c) faea 3marer
(d) HHE,

49,

Which one of the following countries is NOT a member of BIMSTEC?
(a) Bangladesh
(b) Maldives

(c) Sri Lanka
(d) Myanmar



feIfarfad ¢eif 7 & &hieT TT Uk, BIMSTEC T HEY o781 ¢ ?
OEIEGIEN]
(b) AT
OEIGER

(d) FITAR
50.
The members of the International Court of Justice (ICJ) are appointed by:
(@) the General Assembly and the Security Council.
(b) the Secretary General.
(c) the Member-States of the United Nations.
(d) the permanent members of the Security Council.

IRRTSERT =TT & HeEd (1C)) fohdteh @R fgerd fohu St & 2

(a) FETEHT 3R F&T IRe,
(b) FgTEAT
(c) TYFA TS o T A=
(d) FR&T IRVe & TURN TeT
51.
What are A and B for the series 3, 5, 6, 10, 9, 15, 12, A, B?
(a) A =18, B =20
(b) A =15, B=20
(c) A=15, B=18
(d) A =20, B=15

3ofr 3,5, 6, 10, 9, 15, 12, A, BHA IR BFITE ?

(a) A =18, B=20
(b) A = 15, B=20
(c) A = 15, B=18
(d) A = 20, B=15

52.
In a certain language, A X B means A is the wife of B, B'Y C means B is the son of Cand P Z Q
means P is the sister of Q. Then which one of the following means that M is the father of L?

@ MZNYTXL

() MXNYTZL

)LYTXNZM

dLZTYNXM



el T A, AXBHT TG 3T L A BRI, BY CH I NI g fh B, CH GIT IR P 2 Q

FIAEITEFP, Qfrgga g | O, Aaef@adararrag 3¢ M, LarRarg 2
@QMZNYTXL
B)MXNYTZL
CLYTXNZM
LZTYNXM

53.
What is the next number in the series 3, 7, 16, 35, ......?
(@) 44
(b) 54
(c) 64
(d) 74

Aofr 3, 7, 16, 35, ... H 37ITel T&ATFAT G ?
(@) 44
(b) 54
(c) 64
(d) 74

54.
Which one among the following does NOT belong to the same group?
(@) Sadness
(b) Mourning
(c) Melancholy
(d) Sorrow

fAEfaf@d & & sl a1 weh, 34T Fogg &1 7l ¢ 2
(a) ST
(b) #ATTH
(c) fawre
(d) 2Tk

55.
Four girls ( G1, G, Gs, G4) and three boys ( B1, B, B3) are to sit for a dinner such that no two boys
should sit together nor two girls. If they are successively sitting, the position of B, and G3 is:

(a) 2" and 3"
(b) 3 and 4"
(c) 4" and 5™
(d) 5™ and 6



IR I3fhaT ( Gy, Ga, Gs, Gy) 3R e &8eh1 ( By, By, B3) I Ueh ATIAHIST H 5H PR §&aT ¢ foh of
ar &l oTseh, o7 €Y & TS fohar Teh T 88 | IR T IcaRicaR S/ 8, AV B, 3R G; A Feafa war g 2
() GEY 3R ey
(b) Y 3iR Tt
(c) Tiefr 3R gradt
CRIECIEIE

56.
P, Q, R and S are four consecutive months of which P and S are having only 30 days. Which month is
S?

(@) April

(b) June

(c) September

(d) November

P, Q, R 3R S IR AT AT g, ToeTd & P 3iR S H ohder 30 [T gl & | S et AT AT &7
(a) 318
(b) ST
(c) Bdasx
(OBEER

57.
Arrange the following in a systematic order:

Fruits
Roots
Trunks
Leaves
Flowers
Branches

oakrwdE

Select the correct answer using the code given below:
(a) 2-3-6-4-5-1
(b) 3-2-5-1-6-4
(c) 1-3-6-4-2-5
(d) 2-3-6-1-4-5



AFATTET ol shaeg T H cFaiedd HIfaTT :
1. el
2.3915
3. dall
4. afeqar
5. el
6. ATE@TT

oA feT e T JAT Y FEY FecR AT
(a) 2-3-6-4-5-1
(b) 3-2-5-1-6-4
(c) 1-3-6-4-2-5
(d) 2-3-6-1-4-5

58.
From the given alternative words, select the one which CANNOT be formed using the letters of the
word BEAUTIFUL:

(@) LIFE

(b) FULL

(c) BEAT

(d) FUTILE

3T 91T dehfeden ereal # & Teh TF se 1 AT, fFd BEAUTIFUL 2Tsc o &I T 3UNT Y &F

FATIT ST Heh ?
(a) LIFE
(b) FULL
(c) BEAT
(d) FUTILE

59.
Consider the following diagram:

(&
(>

The diagram represents students who study three subjects. The region marked by 2 represents students
who study:

(@) all the three subjects.

(b) only one subject.

(c) only two subjects.

(d) no subject at all.



A e 91T 3@ R AR Hifae

D

SH 3G 7 37 OTET S SR o a2 &, S eT v ged & 1 2 @ 3ifera & fovasy fawat &y
Uge) aTel OTaT & feiad ar g ?

(a) THY =t faw
(b) Shdel T fawg
(c) shaer & faw
(d) IS Y TawT =gt
60.
Find the missing item in the sequence of groups of letters and numbers J2Z, K4X, 17V, , H16R,
M22P:
(@ 1117
(b) L11S
(c) L12T
(d) L11T
37&RT 3R FEA3iT o Faggh o 37qshe, J2Z, K4AX, 17V, . H16R, M22P, & o[ccT #He il T g 2
(@) 1117
(b) L11S
(c) L12T
(d) L1171
61.

Q’s mother Y is the sister of P and daughter of M. S is daughter of P and sister of T. How is M related
to T?

(a) Father

(b) Mother

(c) Grandfather

(d) Grandfather or Grandmother

QHFIACTY, PH TEA § IRMBT TN 1S, PR TN 3R THrageT & | M T T & WY 47 Haer §

?
(a) Torem
(b) ATAT
(c) SIGT/=T=AT
(d) STET/ATT AT STEN/=TTAT



62.
Find the odd one out from among Oil, Water, Moisture, and Ice?
(@) Water
(b) Oil
(c) Moisture
(d) Ice

ddT, e, AT IR TE A A ST AT TF, 3T THT & ReA § 2
(a) STel
(b) e
(c) =T
(d) s

63.
There are two cylinders. The height of one of them is 32 times the height of the other. If the volume of
the shorter cylinder is double the volume of taller cylinder, then what is the ratio of the radii of the
shorter cylinder and the taller cylinder?

(@ 6

(b) 4

(c) 8

(d) 16

al Sefel § | 3599 & Ueh & 3515, QAL 1 1S hr 32 T[T © | TS DI Sefel & 3T, ofdl doiel o

3Tl T ST &, oY BIC Solel 3R ol Sofet Sl ST H 7T 3T & 2
() 6
(b) 4
(c)8
(d) 16

64.
The angle between the hands of a clock at 6:50 a.m. is:
(@) right angle.
(b) straight angle.
(c) obtuse angle.
(d) acute angle.

qaest 6:50 o Tl ST T YT & aI<l leT AT HIUTFIAT & ?
(a) HHHIOT
(b) ] rOT
(c) 37T o7
(d) =geTRTOT



65.
Consider the following figure:

What is the number of triangles in the figure given above?
@ 9
(b) 11
(c) 13
(d) 15

feifehd I ) faaR hifae ;

FR 3iferd o 3 foreey Pregar €2
@9
(b) 11
(c) 13
(d) 15

66.
A wire of length 12 cm is used to form a triangle of sides 3 cm, 4 cm and 5 cm. The same wire can be
used to form a square or a circle. If x, y and z cm? are areas of the triangle, the square and the circle
respectively, then which one of the following is correct?

@ x>y>z

(b) x<y<z

() x<z<y

dy<x<z

12 cm ol TR &7 3UFNT T 3 cm, 4 cm 3R 5 cm ST aTell Teh FSTST AT ST § | 8 AR i
3YANET Y Teh 37 IT Teh ol ST ST Hebell & | TG T8, F91 3R FocT o STl AT X, y HR
zem’ g, dl Arfaf@a A d Rla ar vk T8 g 2

@x>y>z

(b)x<y<z

@ x<z<y
dy<x<z




67.
Which one of the following words can NOT be formed by using the letters of the word
USEFULNESS?

(a) FUSSES

(b) ELSE

(c) FUNNELS

(d) USES

eTeg USEFULNESS & 37871 &hT 3YAET oY e1Tai@d & & ahisT T Ueh Asc, o7 9ATAT ST HehdT ?

(a) FUSSES
(b) ELSE
(c) FUNNELS
(d) USES
68.
If X, y and z are positive integers such that xyz = 90, then which one of the following is FALSE?
(@ x+y+z=14
(b) x+y+z=15
(c) x+y+z=16
d x+y+z=20

IfE x, y 3N 2 38 YR & T quiteh § foh xyz = 90, At fRe=ifaf@d & & =it @1 v e 2
(@x+y+z=14
(b)x+y+z=15
(c)x+y+z=16
dx+y+z=20

69.
One litre of red paint costs Rs. 200 and one litre of green paint costs Rs. 280. A new paint is produced
by mixing 5 litre of red paint and 3 litre of green paint. If the cost of mixing the paints is negligible,
then what is the cost of one litre of the new paint?

(@) Rs. 210

(b) Rs. 220

(c) Rs. 230

(d) Rs. 240

Teh oiIeY oflel Uee sl oITeTd $0 200 & 3R Teh alleX gY Yo T ST €0 280 & | 5 olieX &flel Use
3iY 3 oNeT &Y Uee ! TR Y Ueh AT Uee SATT ST & | IS Oeel Sl fAemey il oIera 7o §,
T Teh offeX AT Yo &l AT AT § ?

(2) 210

(b) T 220

(c) & 230

(d) T 240




70.
A cylindrical container of capacity 90 litre has two holes on its side wall. One hole is in the middle of
its height which drains out 10 litre of water per hour. The other hole is just above the bottom and it
drains out 5 litre of water per hour. If the container is filled full with water, then in how much time will
it become empty?

(@) 6 hours

(b) 9 hours

(c) 10 hours

(d) 12 hours

90 offeX ETRAT aTel SelalTehR UTH T ITRATHTcd H T B¢ & | SHHI FATS & ALY H Ueh G ¢, orad
10 ofieT UTeiT Gl €T &8 ST § | GHIT ©6 38 el & Slh 3T § 3R S6A 5 elled urelr 9id &er
8 ST § | e Jg 9T el & G 3R &Y, of fohelel T 7 Ig Wrell g1 ST ?

(a) 6 ©C

(b) 9 T

(c) 10 &¢

(d) 12 &

71.
Under Article 284 of the Constitution of India, all money received by or deposited with any officer
employed in connection with the affairs of the Union in his capacity as such, other than revenues or
public money raised or received by the Government, shall be paid into:

(@) The Consolidated Fund.

(b) The Contingency Fund.

(c) The Current Account.

(d) The Public Account.

HRA & FlAereT & 3ifeae 284 & 37efieT, T ol eeIfR, S TR E@RT S[erT 1T A7 gred
TS AT oty YR A et &, 3R ¥9 & aR-ieaT & gy # Fafea & iR &
39! 39 g fATd 7 9Ted gidl & AT 38 91 faAfared 61 AT &, et STAT hr Srwet 2

OEIEGEGIE]

(b) 3TRTEEaT e

(c) dre] G

(d) Sk or@m

72.
Who among the following should obtain liability statement in Form GFR 6-A, from the spending
authorities, every month, starting from October in each financial year, in order to maintain proper
control over expenditure?

(@) Secretary of the Ministry

(b) Controlling Officer

(c) Financial Adviser

(d) Chief Auditor



i@ & @ 8, o0 W 3UYF (@G0T FA10 @A & T, Fedeh faecdiT a¥ & HFqex @
& Y, I AT 7 TIARIRAT & JIF GFR 6-A H I fdaoT Gred e A1fge 2

(a) HATST T IRIT

(b) =0T 37TAHRY

(c) TaedT HellgehX

(d) T er@TaIETHh
73.

Which of the following statements are correct?
1. The estimates for expenditure for which vote of the Lok Sabha is required are prescribed in the
form of Demands for Grants
2. More than one Demands for Grants can be presented by a Ministry / Department
3. The main Demand for Grants is presented to the Parliament by the Ministry of Finance and the
Detailed Demands for Grants are laid on the Table of the Lok Sabha by the Ministries /
Departments concerned

4. One of the functions of the Departmentally Related Standing Committees of the Parliament is
to consider the Detailed Demands for Grants
Select the correct answer using the code given below:
(@ 1and2only
(b) 2and 3 only
(c) 1,3and 4 only
(d 1,2 3and4
fArafafad FUAT A G T A TS 2
1. STG-Hreehelol, Tordeh ToIT Sieh FHT T H AT 8, 3Tl &l #19T & &9 & fafga &
2. HATC/TEATIT AT Ueh & 31TRIeh 3HeTaTll T FIT T T ST Hehell &
3. 3feIaleil hT HE AT HHE, Y Tded HATORI GART TEI T ST & 3R 37eferel i saRar
AT FeOd AT/ fIHTIT GIRT Sk FHT & qeol I TG STl &
4. e #, fasmhg Geftrd Turh GfAfaat 1 v S ferEr H sTRaR Al ) faur
AT
=T fET e T JA9T FT Fel IcR JfAT:
(a) haer 1 3R 2
(b) Faer 2 31K 3
(c)haeT 1,331 4
d1,233R4

74,
‘Vote on Account’ can be obtained to cover expenditure:
(@) only for one month at a time.
(b) for a maximum of two months.
(c) till the completion of the procedure for the passing of the budget.

(d) for any period as may be necessary in accordance with the provisions of the Constitution of
India.



oI 3eTeleT” fohelell JTaTe cieh oh S ! IXT it & ToIT UTeeT foham ST Fehell & 2
() Toh 9 H shdel Teh AT & Tl
(b) HT&HTH & A & faT
(c) SoTe ITRA Blel ol TishaT G gl ofeh & felw
(d) $TRCT o FAT & 3TN & ITHR JUTRIH fohaly 31afer & faw

75.
Consider the following statements:

1. Savings out of budgetary allocations can be held in reserve with the approval of the Ministry of
Finance

2. Rush of Expenditure in the closing months of the financial year is not regarded as a breach of
financial propriety if the budgetary allocation is not exceeded

3. Funds can be reappropriated from a unit with the intention of restoring the diverted
appropriation to that unit when savings become available under other units later in the year

Which of the above statements is / are NOT correct?
(@ 1lonly
(b) 2and 3 only
(c) 1and 3 only
(d1,2and 3

ffaf@a Fa ) TR Hifsw
1. §ofc et H @ Sedl T fded HATerT & 3eJAlesT & JRIETT I@T ST Hehell §
2. Taca av & 3ifaer A/ 7 oo & ey, afe I8 soic 3eed @ 318« 7 g, focd
3T T H3T G ATAT SATAT
3. ATt &1 v s &, a¥ & Scakad! ATET H 31T SHIBAT & el Fad 3Ty gl I
3racle faferarster st 3T gerrs & Yot TUTU T &t & AT B, Yot eraitotet fehar i
eI

3L YA H A DleT GUH TE G 818 2
(a) hae 1
(b) Faer 2 3R 3
(c) shaer 131X 3
(d) 1,233



76.
Which one of the following statements is NOT correct?
(a) Government accounts are prepared on cash basis
(b) The transactions in Government Accounts represent the actual cash receipts and disbursements

during a financial year
(c) Government Accounts are required to reflect amounts due to, or by the, Government during a

financial year
(d) All foreign currency transactions are brought into the account after conversion into Indian

Rupees

TR & A i T1 U T 778 2
(2) TXHRT oW g YR W AR fohw F1ad §
(b) TR oIEI3T H olel-¢ol fAcdIT a¥ & SRl dEddeh sThg, TTfeadl 3R Afaaroi i
AeRg Farg
(c) TXRY o3t A 3nfara & 6 3 fach a¥ & e TRR A, 7 3T eaRT, & LRIy
& GATT
(d) =i FaT & Fft T-SoT TR FUT F TREcHeT Sl & TR oI @lehel fhT STl &

77.
Expenditure on account of reparation of the damage caused by enemy action is to be charged to:
(a) Capital or Revenue or both, as decided by the Government.
(b) Contingency Fund of the Union.
(c) Contingency Fund of the State concerned.
(d) Public Account.

¥ T PRATS F GT T T GG T b PROT E Y Y fohTH TR feham ST g1 & 2
() YT3TeT AT ASTET AT a1 H, ST F¥eh fafareea Y
(b) TG F¥ TR THGBT AT H
(c) T T FI 3T THRAT AT &

(d) o orET

78.
Inter-Governmental adjustments relating to a particular financial year can be carried out till the:
a of March of that year.
(a) 31% of March of th
(b) 15" of April of the ensuing year.
C of April of the ensuing year.
(c) 30" of April of th i
ate specified by the Controller General of Accounts every year.
(d) d ified by the C ller G | of A

foraY &Y Tacdir aY & Fefid 3SR TATIISIA v dIE de fohT ST Thd & ?
(a) 3T a¥ Fr 31 AT dsh
(b) 3TTTTHY ¥ T 15 31l d
(c) 3maTeT ay v 30 39T dH
(d) gfa™ o AT ganT fafafése anra &




79.
The powers of various subordinate authorities to accord administrative approval for works are:
(@) regulated by the Delegation of Financial Powers Rules, 1978.
(b) given in the General Financial Rules, 2005.
(c) notified by the Central Public Works Department every year.
(d) notified by the Ministry of Finance every year.

TRHTOT-3hrt BT TR TeTHIG e el bt fafdest sreherey witrmRat #hr erferaat -
(a) e arfeerat gearatsie a#, 1978 @Ry A& g &
(b) ATATT e A=, 2005 A & s §
(c) T qW HERT Flreh TAATOT fyaarer ganr sferg e &r o §
(d) 9T @ faee FATer gaRT JfRgRId S ol §

80.

Which one of the following statements is NOT correct in relation to disposal of stocks?

(@) A ministry or department may undertake auction of stores directly

(b) If the selected bidder does not lift the stores, the auctioned stores can be resold with the consent
of the defaulter

(c) The team constituted to conduct the auction must include a representative of the internal finance
wing

(d) Acceptance or rejection of a bid should be announced immediately on the stroke of the
hammer on compleation of the auction process

TIFT & e & Gey & Hrafafld U=t J § i a1 v T8l 7@ e ?

(a) FATSTT T TAHTIT JTHATAT T TIET SATTHT FT Thol &

(b) uﬁgmwa’lﬁrwuﬁ aTell HIHATST 6T 3BT &, dl SATellH [ehT T ATHATST <eh el dTel T
FeAfd A R A g ST aAhd &

(c) AT & FATeleT & ToIT 1S & & 3TdRS acd THY FT Teh JTATATS AT QMo
ThaT AT AT T

(d) Ao FfshaT T FATTCT TR &lell T Feliehicl IT EdTehic deehlel HeT FoTT T Tlf¥e &Y &
S TR

81.
Which one of the following statements regarding surplus or obsolete or unserviceable goods is NOT
correct?

(@) They can be disposed of by obtaining bids through advertised tender

(b) They can be disposed of through public auction

(c) They can be destroyed if there is a possibility of misuse of such goods

(d) They can be given to Non-Governmental Organizations registered with DGS & D



3T A7 3rvaferd AT FFAT o fhT ST et ANTT ATATAT o IR H fArafaf@a suat & & sl
T U T o7gT e 2

(a) 3Tt AT fAATaer & ATEIe & feT Ured T o1 ST ThdlT &

(b) 3sTeRY HTASTToIeh HATeITHT 3 HATETH & 9T ST ThaT &

(c) Tfe QA ATATEAT hT EALNIT Blet ShT HHTGT &1, oY SeTehl wTSC Foh T ST Hehell §

(d) 37T DGS & D # Uoiehel IR-FRFRY HITSAT b feaT ST Hehell &
82.
Goods can be purchased without inviting quotations if the value of such goods does NOT exceed:
(@) Rs. 10,000 on each occasion.
(b) Rs. 15,000 on each occasion.
(¢) Rs. 50,000 in a quarter.
(d) Rs. 1,00,000 during a year.

T I ereT ITATIA TohT ATl T @G ST A1 Tehll &, ATE TH AT ol Hed fehclal & 3T o781 2
() Ik 37a8X IX F0 10,000
(b) Icdeh 31gET I T0 15,000
(c) Il Ta#TEr & $0 50,000
(d) a¥ & RTeT ¥0 1,00,000

83.
A Department can directly procure items from the suppliers with whom the DGS&D has entered into a
Rate Contract. In this context, which one of the following statements is NOT correct?

(@) The Department need not make the payment to the supplier through DGS&D

(b) The Department can purchase the item at a price lower than the Rate Contract Price

(c) The Department can negotiate a totally different set of terms and conditions with the supplier

than those mentioned in the Rate Contract
(d) The Department shall make its own arrangement for inspection of the purchased goods

1S TAHTET 3oT Yfcendiait &, Toeteh HTY DGS&D & eX-HideT i &, HIY a3t (TSeHH) I JraoT
L AhT g | 3T TG H, AT FUAT H & hleT AT U Tel o7gl 6 ?
(a) TaremmaT T, Gfciehcil ST DGS&D o HTETH & 33Tl it hl HTTLTehcll e &
(b) faraTrer, aX-wfdeT HAd & e &1 fore Hrd R 38 avg A TG FT TFHaT§
(c) TasmmeT qfcterall &, ex-dfder # 3feai@d et 3R erdf & aaer e fandl Aaeat 3R
QAT TR aTdT X HehlT &
(d) TIHIET WIS, 31T ATl & 8707 o oI 3796t Tag T cgaedr 3T




84.
Which one of the following statements is NOT correct?
(a) Advance payment of the full cost of raw material can be made to a public sector undertaking in
a turnkey contract
(b) Departments can trade the existing old items while purchasing the new ones under ‘buy-back’
arrangement
(c) Provision may be made in the contract for part payment to the suppliers
(d) Provision should be made in the bidding document which enables the bidder to question the
bidding conditions and bidding process

rAfaf@d U= 7 & i a1 v, Ter 7370 ¢ 2
(a) TR aTRcaquT (eoT-hn) |ider #, AIdstisleh &7 & 3UshA &l e HTel T T &I I
311IH AT foh T ST FehelT §
(b) fasmeT, 78 aeq¥ @led FAY HIS[ET GUN TEIHT 1 aIH TS STTEAT & I Hiar
Y Hb &
(c) EfdeT &, iciehc13it & 37TTRYeh 37Tl el T 3USET fohaT ST Hehell &
(d) STelT Tol@ & U1 39Y fhaAT ST ATRT, ST Siell ofdley arell T Srell T rat 3R arelr
TN T GTShAT3IT o TR & TR YO 1 HTHR ST 87

85.
Procurement from a single source may be resorted to where:
1. itis in the knowledge of the user department that only a particular firm is the manufacturer of
the required goods.
2. there are sufficient reasons, to be recorded in writing by the competent authority, indicating
that it will not be in public interest to procure the goods through advertised tender enquiry.
3. in a case of emergency, the required goods are necessarily to be purchased from a particular
source.
4. there is a requirement of standardization and compatibility with the existing set of equipments.

Select the correct answer using the code given below:
@ 1,2,3and 4
(b) 1,3 and 4 only
(c) 3and 4 only
(d) 1 and 2 only



Teh &1 T & UTYUT et T T I ToraT ST FehalT &, STeT
1. Ig 3UAITHAT FHET AT SHARRT 7 &) fF Faa T fadw gfass & 3nfera #Aer &
AT g
2. W gied wROT E, e Tere IR gaRT g Sd1d g faf@d &9 # gof fohar se, i
faaiad fATAeT S dTes & ATEIH @ ATl T 90T HIEAT dAlhigd H o6l g
3. fordlT 3mmaTa Rt &, S19 3mfard ATel & 3aedes &9 & fohelT fadiw ara & €1 @lier S &r
4. HATAhIRIOT 3R HIGET 3UR0T THTUY & TTY JEHITA I ATGRIHT g

=1 feT e T YT Y AeT ek AT
() 1,2, 334
(b) Shaer 1, 3 31X 4
(c) hael 3 3T 4
(d) haer 1 3iR 2

86.
The officer-in-charge of stores having custody of goods and materials is NOT responsible for which
one of the following?

(a) Utilization of stores and materials before the expiry of their shelf life

(b) Arranging the safe custody of stores and materials received

(c) Taking appropriate steps for the proper storage of the stores and materials received

(d) Certifying that he has actually received the materials and recorded it in the appropriate stock

register

SR T THRY TARRY, ATer 3R T [Fahr #1fAeT A7 §, Aeafafad & @ g th & fau
Sca’erd gl ?
(a) $1SR 3R FHTIET (TSI Us AERTeH) 1 SeTeht [T I hr FATCA & I 3ureT
(b) 9T SR 3R FTATIAT hT FRTETT JTTIRETT T cTaE>T Hiam
(c) 9ot $15R AR ATATILT & 3ugerc HSROT & foIT FHfId THed 33T
(d) TE TATOT AT Toh SHeT ATETd H FIHT UTeT bl & 3R 38 IuPeFeT Teleh Toee] & &
R

87.
Which one of the following statements is correct in relation to the maintenance contract?
(@) It is mandatory to sign such contracts in respect of all sophisticated and costly equipment and
machinery at the time of initial purchase
(b) Maintanance contract can be signed only with the supplier of the goods / equipment
(c) Maintanance contract need not necessarily exclude the warranty period
(d) Maintanance contracts need not necessarily be signed with the supplier of the goods /
equipment



3TIRET0T WAl & T & Ao Il # & el A Uh Tl & 2
(a) Ty TRShe 3R FHgaT IuEent 3R AT & aR 7 IRHS TG & FAY W Hiderit W™
gEdTeTT foham SireT 3ifeencHs &
(b) el FTHATAN/3THITI o YfcTehcll o HTY ET 3TT&TOT HdeT GEATETR i ST Fehell ©
(c) TE 3R =TE1 & foh 1IRaToT Aider & gl 3afe & 1T &7 & enfAer o fohar e
(d) TE 3MMaRT =IET & fob WIATAI/ITHON & YfcTehdl & HTY &Y 3RETOT HideT gETaTRel
iy

88.
A Committee constituted by a competent authority has declared certain items in an office as surplus.
The residual value of such items has been assessed at Rs. 3.50 Lakh. Which one among the following
would be the appropriate disposal action for these items?

(@) Disposal through public auction or obtaining bids through advertised tender

(b) Disposal through destruction

(c) Disposal through a mode as determined by the competent authority

(d) Disposal at scrap value

TeTH NIRRT aRT 1S fohdt afATY o fhedt shraferd & fduy a3t @1 JifaRy e fohar
& | O e b1 HafRIse FHodr 10 3.50 o feiRe foham aram & | fe=tfoli@d & & ey @ e,
ST 3T o foT 39gerd fAgere Hrars gef 2
(a) TSI AT & FATETH T A7 faariad Afder & #ATegs § diell wred X fAgersT
(b) =TI (TBECarereT) & ATEIH § et
(c) T&TH ITfISRY ganrT FuTfaeRa fafer & Areas & fAuers
(d) helTs Hed T A9erT
89.
In regard to inventory management, all Ministries and Departments:
(a) are required to follow the provisions of the Public Procurement Laws.
(b) have the power to relax the rules prescribed in the General Financial Rules, 2005.
(c) can lay down detailed instructions in conformity with the basic rules contained in the General
Financial Rules, 2005.

(d) have to follow the procedure prescribed by the Directorate General of Supplies and Disposal
(DGS & D).

AT Jatiel o HeH & T Farerar 3R faemet
(a) & 319faTT & o o eiten 3UTTC faferat & suarel o1 sregavor &Y
(b) T HTAT faecd faa, 2005 # g AT A geda Hrafea g
(c) @Rt TA=T el f@7e, 2005 & 3idfdse MURST AT & 36T faEgd rgeer
AT T ST aRa &
(d) T gfet AR forvereT AgTiareRmer (DGS&D) SarT fafgd gl &l HeTeRuT HLaT gicll &



90.

Consider the following in connection with procurement process:

1.
2.

3.

4.

The bidding document should contain date, time and place of opening of bids

The bids should be opened in public and authorized representatives of the bidders should be
permitted to attend the bid opening

The name of the successful bidder who has been awarded the contract should be mentioned in
the Ministry’s or Department’s notice board or bulletin or website

The bidders should be given reasonable time to send their bids

Which of the above are necessary requirements towards ensuring transparency, competition and
fairness in the procurement process?

(@ 1,2and 3 only

(b) 2 and 3 only

(c) 1and4only

(d) 1,2,3and 4

YT9oT YihaT o e H Arafai@a ) far fifae

1.
2.

Jrell 997 A Siferdl sl @leled sl TG, AT 3R TUTT GIT g1 AT

SIferIT GoI-37T el ST AT 3R STl ofeTe aTell & Tiftiehd Fiaf=Afert s srelr @relr
ST GG 3T gt h Al & STreht anfge

BT Slell SR aTel &1, ToTd HideT YaTel & a1g g1, HATerd AT [IHET & Far-ag A1
Jelfce T ATATST TR ool FohaT ST AT

el ST Tl Sl 39T SiferaT Fata & fow TANfRa ga fear ser anflge

39T H @ et F, T90T Ffshar F IRERIAT, Gfaeae’ 3R fFeuetdr gARed #te 8q 3=
3TARTH AT &2

(a) haer 1,2 3R 3

(b) hael 2 3iR 3

(c) hael 1 31X 4

d) 1,2, 334

91.

Just in Time (JIT) system reduces inventory in excess of current production and R&D needs through
elimination of:

(a) safety Stock.

(b) FIFO inventory.

(c) Waste.

(d) Kanban system.



clcehlel gYeam (JIT) TOTel, =Te] 3cUTeal 3N R&D TaRThdIT & 3Tk Aol #, fohareht oR&s
Y §U HHT AT & ?

(a) & T2l

(b) FIFO #ATeT

(c) 379AY

CEGEGRENIE

92.

A company keeps stock of spare parts for their equipment. Inventory department estimates the cost of
holding per unit per month to be Rs. 50. When there is shortage of equipment, it will cost Rs. 1,000 per
unit per month. Over the past, likely demand of equipment follows the pattern given below:

Demand 0 1 2 3 4 5
Proportion of 0.8 0.1 0.005 0.003 0.015 0.005
month

Based on the information given above, what is the optimal stock level?

(a) 2
(b) 3
(c) 4
(d) 5

fohell shuell & 38 3uERT o T 3TARerd Joif 1 Feieh T@T ST & | AT [I37eT T§ Aefenfoled
T ¢ T ufar s ufar ATg &RoT Y FPTT $0 50 § | 3UTa T AT gled W), T 1,000 UfT SIS
i #H1g oIt IS | FAITT TG H, IUTHR T FHTTAT AT A1 T I GITET T 30T Ll

HIT 0 1 2 3 4 5
HTH o1 0.8 0.1 0.005 0.003 0.015 0.005
3e14ard

FOR &Y TS FIAT o 3TUR T, FSCAH Fleh Tl T § ?
(@2
(b) 3
(c) 4
(d)5



93.
The Critical Fractile (CF) ratio (where Co = Cost of over stock and Cu = Cost of under stock) is
defined as:

(@ Co/ (Cu + Co).
(b) Cu/ (Cu + Co).
(¢) (Cu+ Co)/Cu.
(d) Cu/(Co-Cu).

shifcieh f3eten (CF) 3e]dTd (STET Co = 31feeh Tieh T AT 3R Cu = 75T Feieh T ollaTel) 1 fohd

& H gRANT fhar Arar g 2
(@ Co/(Cu+Co)
(b) Cu/ (Cu + Co)
(c) (Cu+Co)/Cu
(d) Cu/(Co-Cu)

94.
A factory is facing an annual demand of 1000000 items of a particular type. Each item costs Re.1 to
the factory. Ordering cost is Rs. 12.50 per order and inventory carrying cost is 25 percent of unit price.
What is the EOQ?

(a) 10000 items

(b) 5000 items

(c) 3162 items

(d) 7071 items

fohell R # Ueh faT FehR T 1000000 TEI3HT Y AT AT & | Tedeh TE] TR HREA
AT T0 1 § | SHIATCLT oIET Uil shaTeer T0 12.50 § 3R AT I IWd AR Sh1s HIFAT FT 25
gfara & 1 EOQ #ar g ?

(2) 10000 T

(b) 5000 TG

(c) 3162 &

(d) 7071 aEq

95.
If annual demand for an item is 1000000, procurement lead time is 15 days and safety stock same as
the consumption during the lead time, what is the re-order level?

(a) 41667

(b) 84333

(c) 83334

(d) 15000000



I fordit a&q o forw arf¥es AT 1000000 &, FT9OT &I &5 3afer 15 o R gRearm i, oS

37afer o ERTeT §U TN o SRISK &, Al TeAhITCRT TR FATE ?

(a) 41667
(b) 84333
(c) 83334
(d) 15000000

96.
Which one of the following is a major function of purchasing?
(@) Quality control
(b) Inventory accounting
(c) Supplier negotiations
(d) Warehousing operations

fArfafed & @ T a1 vh, FT FT AT FRE ?
(a) 70T forzr=roT
(b) HTT SIWTHIOT
(c) Iicieh ardt
(d) ATCINETH JaTelel

97.
The time elapsed between the receipt of a requisition and the receipt of goods required is defined as:
(@) Lead time.
(b) Pre-operative period.
(c) Post-operative period.
(d) Delivery schedule.

AlaT Fr grfea 3R 3T #Arer S wiftd & i eacdia @@y a1 fha w9 7 aRenf¥a frar srar g 2
(a) ol THYT
(b) FrITeleT-gd 3rafer
(c) AT} 3afe
(d) gueal wRisha

98.
Push manufacturing system is a:
(a) EOQ-based system.
(b) Kanban system.
(c) MRP-based system.
(d) JIT system.



arerehe fafei#ToT yoTTel Far § 2
(a) EOQ-3TeTRel JoTrelt
OEGEGENIE
(c) MRP-3TEITIR YoTTelr
(d) JIT JoTTelT

99.

SKU is the acronym for:
(a) Store Keeping Unit.
(b) Stock Keeping Unit.
(c) Selected Key Usage.
(d) System Kind Usage.

SKU foraes forw gRauif erse & 2
(a) TR Hifdar e
(b) FeTeh T oA
(c) Aoreres dhr gt
(d) FEeH F1gs gheT
100.

Which of the following determines the tracking signal (TS)? (Where MAD = Mean Absolute
Deviation and RSFE = Running Sum of Forecast Errors)

(a) TS = MAD
RSFE
() Ts = RSFE
MAD
MAD
c) TS= — =
© (RSFE)®
RSFE
d) TS= 2=
@ (MAD)®®

AFffed & @ sl a1, FEATEROT Heheleh (TS) T [FEROT HIT § 2 (STeT MAD = \Te faiwder
fareretet 31 RSFE = qaieTaTet Jfeat o1 arfdiere )

(a) TS = MAD
RSFE
(b) TS = RSFE
MAD
MAD
0)TS= ——
© (RSFE)®®
@) TS = RSFE

~ (MAD)®



101.
Which of the following constitute the elements of storing and warehousing costs?

Investment in store space and storage and retrieval systems
Software for updating the inventory status

Insurance costs for warehouse

Cost associated with ordering material

el AN S

Select the correct answer using the code given below:
(@) 1 and 2 only
(b) 2 and 3 only
(c)3and 4
(d)1,2and 3

ArATafT 7 @ FlT T, $18RUT 3R ATINGIH H TWe! I ATl o 31TTd 2
HSRUT & T 3R $SROT FAUT Yo F1TCeT JoTTell 3 fAaer

Aol 1 FEAfa &Y 3reTdet T@ & folv AiFedaR

. HTTINGTH & §1H I ST

. AT F HATCA H TG AR

A N

o1 feT e T YT T Hel 3ccR AT
(a) Shaer 1 3R 2
(b) haer 2 3R 3
(c) 33K 4
(d) 1,2 3R 3

102.
Additional investment in inventory to buffer against uncertainties in demand and supply of raw
material and components is in the nature of:

(@) cyclic inventory.

(b) pipeline inventory.

(c) safety stock.

(d) decoupling inventory.

e #1er 3R it 1 #19T R qfcl 7 fAfRercdr & gfd gram & forw Arer & sifaRerd f@der e
TIET T BIell & ?

(a) <IhTI AT

(b) TSRS HTTET

(c) & Teih

(d) fagaaeT ATeRTT



103.
In the context of maintenance, the spare parts repaired, reconditioned and put to use are categorized as:
(@) rotable spares.
(b) capital spares.
(c) maintenance consumables.
(d) insurance spares.

37eRETT & Hedt &, AFAC fohT 91T, GUR 91T 3R 39ATT H o0 7T HfAReFT ol 1 fovg &9 A
Haafiepe fehar SraT 2

(2) g (el rfaRerd gof

(b) hTeer AR Iof

(c) 3TIRETOT 3T TEV

(d) 3T AHfARFT ol

104.
Material Department reported Operation Manager that orders have Critical Ratio (CR) greater than 1.
What does it mean?

(@) Order is behind schedule

(b) Order is on schedule

(c) Order is ahead of schedule

(d) Order is already cancelled

AT TIHTET o TaTelel Yeiereh sl RUe foham foh shameeil o1 shifdieh 31equrel (CR) 1 & & ¢ |
SHAT FIT A ?

(a) SHATCA FRIFA F NS &

(b) AT HIRAHHTHR &

(C) AT FRIHH T T §

(d) AT Tgel & feRea A fear = g

105.
Which one of the following is NOT correct in relation to ‘transportation inventories’?
(@) These are a part of the ‘transaction stock’
(b) The size of ‘transportation inventory’ is linked to length of the pipeline
(c) The size of the “transportation inventory’ is not linked to the rate of sale at the retail stock point
(d) Stock of ‘transportation inventories’ cannot be reduced

fArafafld & @ wia a1 v, ‘IRaes ATer & &Y & TEY 75767
(a) & “leT T T TH AT &
(b) “IREG HTel” T AT, SIS T oIaTS T ST
(c) “IRageT AT T AT, YeT FeTa g o s A T & JoT 181 &
(d) “IRag ATl T TCieh o AT [T ST Fehcll




106.
Consider the following statements:
1. All obsolete items are non-moving in nature, while all non-moving items are not obsolete.
2. The problem of obsolete items is more acute with reference to spare parts.
3. Obsolete items cannot be used economically.
Which of the statements given above is / are correct?
(@) lonly
(b) 2 and 3 only
(c) 3only
(d) 1,2and 3

ffaf@a Fa ) TR i :
1. 8t rrarfolel eV 3Terel TTET i I &, STaTich ail 3rerel a&cIU 3rsrafeled =gl gicil
2. 3rqarferd aEq3i s FaEEaT, IfaRed el & daer & 3ifeew g gl &
3. ITATerd T3 T FRBIRIA & ST LT foham ST Fehd

YL YAl H ol TI/A FERIE 2
(a) dhdel 1
(b) haer 2 3iR 3
(c) dhaer 3
d) 1,23k 3

107.
Which one of the following statements is NOT correct?
(@) FIFO issue system cannot work if the items are stored randomly in a large warehouse
(b) The JIT concept of inventory management can prevent accumulation of excess inventory
() ZIN (Zero-inventory) system of inventory management does not imply literally “nil” inventory
(d) The term “EOQ’ stands for efficient order quantity

rafafad w2t & § Sl a1 v TE 7878 2
(a) FIFO faTar qotTell shre =TT oY Tehcll, A a3l ol fohell 913 aiere & Freiedend: $sTR
[ERIEIEI]
(b) AT YA &1 JIT HheTadT 37T AT & STHT 81 SiTe i Ush Tohall &
(C) HTeT F&ItreT el ZIN ([eF-HTeT) TUTTel ahl T HTel 3 ASGRT: “Yed” Blell 718! &
(d) 2reg; “EOQ’ T 37 UfthfAie 31 Faifedr §

108.

Which one of the following statements in the context of ‘Letter of Credit’ is correct?
(@) Itis an arrangement, whereby the obligation to pay the seller is undertaken by a bank
(b) The Letter of Credit need not necessarily specify any amount
(c) All Letters of Credit are revocable

(d) Revolving Letter of Credit refers to an arrangement whereby the bank undertakes to make
payment to multiple sellers




‘HEUT’ & HeH H AT TR HUAT H  hisT AT Th, el g ?
(2) TE Ueh cTaEAT &, ToiHeh @RI fashal 1 $[Tcllel el o &lfdcd M doh SanrT a=iel feam
STl &
(b) TTEYT & R ey 7 _AfATESe Fam ST 3mags 76T &
(c) Tafr AT ufqweRofT g1 &
(d) IR ArEuT 37 aEAT i [AfEse FIar g, fSrereh 2arT e sg Fashatait s sparcirt

A FTIIAT AT

109.
The duration from recognition of need till the purchase order is triggered off is called:
(@) Transit lead time.
(b) Administrative lead time.
(c) Pre-purchase lead time.
(d) Processing lead time.

TTERIHAT T T T F of T HATGL o TdTcid TehT STt ek sh 37aITer T Shgellell & ?

(a) IRAGT oS AT

(b) gemaEfIeh oS 3rafer

(c) Tg-gd &S 3raf™

(d) TSh&UT 15 37T
110.
A.B.C. and V.E.D. analysis were performed for all the stored items in a factory. Three items, M, N and
P, were found to be of A-type and vital, A-type and desirable and C-type and vital, respectively. In
which one of the following descending order, will their service level be maintained?

(@) M-N-P

(b) N-M-P

(c) P-M-N

(d) P-N-M

Tl pR@re 7 Foft o7sTRA a&3it & folw AB.C 3R V.E.D. farelyor f&hw a7v | et @&y, M, N
3R P, HHA: A-UhR &I 3R 1A, A-UaR &1 31K a1 a1 C-9R Fi 3R rfaary urg ars |
fAFfefad & & foha Teh 3TaRIET 3iegshel H, SoAehl AT TR TATT QT ST 2




111.
Consider the following statements:
1. Active work-in-process stocks are transaction stocks.
2. Safety stock is an organization stock.
3. Fluctuation stock is not a safety stock.
4. Stocks held in anticipation of price increases are speculative stocks.

Which of the statements given above are correct?
(@) 1and2only
(b) 2 and 4 only
(c)1,2and 4
(d) 1,3and 4

AT fad HY«r X fgar Hifaw
1. T UThaTdaTd 1Y TTish TlaT TSI 8l &
2. GI&TT Teleh, HaTdeT EFeieh BIell §
3. -8 TClah, I&T Tl A6 T arell
4. A TGoT T TR H LR Eieh, HTTHTAh Teleh BIcT &

3O FHUAT 7 U BT T TETE 2
(a) shder 1 3R 2
(b) haer 2 3R 4
(c) 1,2 3R 4
(d) 1,334
112.

Which of the following are included in the inventory carrying cost?

1. Cost of storage facilities

2. Pilferage

3. Taxes

4. Opportunity cost of capital

Select the correct answer using the code given below:
(@) 1and2only
(b) 1,2 and 3 only
(c) 3and 4 only
(d) 1,2,3and 4



Arafaf@a & @ i & ATer T@g aRTg & enfAaT g ?
1. $TSROT FIAUT3T AT eAaTed
2. e Iy

3.
4. Goil & faehed oImeTd

oA feT She T YT T FET 3cck AT :
(a) Shder 1 3R 2
(b) aer 1,2 31K 3
(c) ShaeT 331X 4
(d) 1,2, 334
113.

Consider the following statements in the context of procurement strategies:

1. *Systems contracting’ helps the buyer and seller to reduce the administrative expenses.
2. ‘Blanket order’ is an incomplete contract with a vendor to purchase certain items.

3. “Bazaar purchase’ is also known as imprest purchase.

4. All limited tenders are advertised tenders.

Which of the statements given above are correct?
(@) 1and2only
(b) 1,2and 3
(c) 3and 4
(d) 2and 3 only

YIqoT SR & e H RAFfaild Yl o IR fifFe :
1. ‘YUTETT HAGERUT shdl 3R fashdr & foT WAl o 7 a=a H

g gl &
2. ‘U A BT a&3iT HT T & T fohdy fashar & @y & arg
ey Efder ¥

3. ‘TR WS &Y 3T WG & & H it ST AT &
4. gy DifAg Rfed fag A g &
ST HUAT A F DT T HLTE ?
() haer 1 3R 2
(b) 1,2 3R 3
(c) 33K 4
(d) aer 2 3R 3



114.
Details of an item’s product buildup, including all component items, their buildup sequence, the
quantity needed for each and the work centres that perform the buildup sequence are described in:

(@) Bill of Materials.

(b) Master Production Schedule.

(c) Inventory Status File.

(d) Bill of Lading.

fohell a&q &1 3eure gie (Wes3rm) & @i, TS Fef e aequ, 3o gig rThe, s Hr
31TaRIeh AT 3R I 3Teshe T TASUTTET ie aTel hid-che; QMTHA 8, Toherat ol gl 82

(a) TTHT g

(b) 9T 3cUTGT HIAhA

(c) ATl et Afdepr

(d) ofeTeT 9

115.
The information as to ‘what do we want to produce, and when’ is provided by:
(@) Bill of Materials.
(b) Inventory Status File.
(c) Master Production Schedule.
(d) Planned Order Release.

‘§H TohEehT 3N el ScTest T TTgd o o TR H FaeT Fhad el g 2
(a) aTHT g
(b) #ATer TEUf GfeT
OELGERIFGEIET

ORISEIErAE DI CRATEE

116.
Consider the following statements:

Planned orders (future) is one of the output information of the MRP.

Inventory status file is an output information of the MRP.

Order planning and control is one of the functions served by MRP.

Priority planning and control is a function served by Master Production Schedule (MPS).

el AN S

Which of the statements given above are correct?

(@) 1and3only
(b) 2 and 4 only
(c) 1,2and 3 only
(d1,2,3and4



faafaf@a Fa ) R fifsv
1. ANSTeTeE TG (HTAT) MRP &Y Teh [T e gl &
2. Aol T e MRP ol Teh To¥eTa =il 81 &
3. TG AT 3R FATTUT MRP SaRT fohdT SATet aTell Teh Yehrd
4. 37T AT R FATTT TTeT IcTEsT v (MPS) SaRT fohT STed Tl Ueh Yhd &

3O HUAT 7 U BT T TETE 2
(a) shaer 1 31X 3
(b) haer 2 3R 4
(c) aer 1,2 3R 3
(d) 1,2, 334
117.

Under integrated materials management system, determining EOQ is related to which one of the
following elements?

(a) Materials planning

(b) Inventory control

(c) Purchasing

(d) Stores management

Thiehc HTHEAT JeEIeT JUTTell & 3, EOQ & f¥eiRor fe=ifafid raai # & fonet veh & &A1y
geafadag?
(a) GTHIAT JrSTeTT
(b) #Tel frg=oT
(c) Tl
(d) HESR JaereT
118.
Which one of the following is the first step in the purchasing cycle?
(@) Requisition
(b) Specifications and requirements analysis

(c) Source selection
(d) Purchase plan

WE-geh A RrafaT@d & O i IT U, IgeT TRUTEIAT & 2
(a) AT
(b) fafIfSe vas 3maeaerdr fageryor
(c) G TgeT
(d) T AT




119.
Which one of the following statements is correct?
(a) Palletisation and containerisation are common methods of storing big items in holdable
packages without impairing their physical attributes
(b) Forklifts used in a store cannot perform the function of transportation of packages
(c) Skid trucks, gantry cranes and tractors are examples of fixed-path material handling equipment
(d) Mono-rail systems are meant for transportation of passengers

feRa s daslaar e T g 2

(a) AfgehTertoT ( YoleTgalere) 3R TSSaTacT ( HeeRIgeieed), a3 a3l & aroiy
aRasesl (Yhatsr) A, 3ot #ifds oM # 9 o1 9=, HsRA et FHr A=y
ggfaar g

(b) TRl $iSR #H TgFc HICGN 3T (PIHTIFEH), HAseal (Yehotol) & IRageT &l
P TET P Tt

(c) T3 goh, I shat 3R Srex, fATT-u2r AreTell Hamele 39T & 3ET8d0T &

(d) AAT-YeT vonforat Tt & gRagd & [T adr &

120.
Analytical management tools such as A.B.C. analysis, H.M.L. analysis and V.E.D. analysis refer to:
() periodic review system of inventory control.
(b) fixed quantity system of inventory control.
(c) fixed period system of inventory control.
(d) selective control of inventory.

J2NF gaereT 3UHOT, S fF A.B.C. TAANUT, H.M.L. [32awor 31X V.E.D. faeaivor frd Afése
A B ?

(2) FToT FoYei0T it 31TafRre TAATOT STy

OEIGAGREMEIRGEREIEIRICH

(c) ATer faT=oT &t [T 3rafer gomedr

(d) HTeT ST TFATcH [HAIFOT




